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Arithmetic SSC Special Practice Set-IV

Kunal's present age is three years less than
twice is age 12 years ago. Also, the ratio of
Vikrant's present age to Kunal's present age is 4
: 9. What will be the age of Vikrant after 4 years?
AT i AT, 12 8 gd feehta vt &F THT 3 | o1
o T ¥ 1 Frshia qeI SHUTIT Skt STHTT Y Rt 31U 4: 9
% fosha =t 4 o =g =t 3W = §)

(a) 16 years (b) 17 years

(c) 18 years (d) 27 years

(e) Can't be determined

A hen and a goat were sold for Rs. 540, there by
making a profit of 25% on hen and 20% on goat.
By selling them for Rs. 538 the profit would be
20% on hen and 25% goat. Find the cost (in Rs.) of
each hen and each goat.

ek T AT Teh Tehdt Rl &, 540 T s e fered it
X 25% T AT Tehdl UT 20% T M| . 538 W e
T A U 20% TAT TRl U 259% TNT BT Yedieh Hit
qAT T hi forua &. | A9 |

(a) Rs. 250, Rs. 200 (b) Rs. 240, Rs. 220

(c) Rs. 225, Rs. 200 (d) Rs. 240, Rs.-200

(e) None of these

There is a team of five persons A, B, C, D and E.
In how many different ways ¢an they be seated
on a bench if A and B never it together?
ufer S A, B, C, D 9 E &t U & 1 faras fafir=r
el ¥ A Teh WIT WX 98 Uehd & IfC A 99T B Ueh |1
et 7T S

(a) 144 (b) 120
(e) None of these

(c) 72 (d) 720

Directions (Q.4-5): Study the given information carefully
and answer the questions that follow.

Tt Gt ot s STE8a sy adT T uvsi st
I

A box contains 6 red, 3 yellow and 2 green balls.
If two balls are picked at random, what is the
probability that both of them are red?

ek It § 6 1T, 3 Uielt o 2 gt A 1 afg 3 Wi ot
tr@??ﬁzﬁmmﬁaﬁfwﬂ?@%ﬁmm
oy

(@) > (b L ot @l
11 2 15 7

(e) None of these

5.

If two balls are picked at random from the box

given in the above question, what is the

probability that at least one of them is yellow?

fg AT dIel ol AT T | YT U9 d Bie foan

;ﬁﬁmﬁmﬁm@ﬁ?«ﬁﬁ?ﬁaﬁmw
|

(a) 22 (c) P
91

) 27
55 456

7
(d) 11
(e) None of these
The average of four positive integers is 72.5. The
highest integer is 117 and the lowest integer is
15. The difference between the remaining two
integers is'12. Which is the higher of these two
remaining integers?
TR ST UTIeh! <hT 31T 72.5 ¥ YUTIeh 117 a2 e
quiiek 15 §1 St 919 YUTiehl =T 3R 12 & o 378 919
3o qutteh o £
(a) 73 (b) 84 ()70
(d) Cannot be determined (e) None of these
The population of a town is 8500. It increases by
20% in the first year and by another 25% in the
second year. What would be the population of
the town after two years?

ek ITEY Shi SITEEAT 8500 ¥ IIE WerH a8 20% St a2
Teet=r 25% oTE 1 31 et | IT8T oht STEEAT ST T
(a) 10950  (b) 12750 (c) 11950 (d) 12550

(e) None of these

The difference between the simple interest and
compound interest obtained on a principal
amount at 5 p.c.p.a. after 2 years is Rs. 35. What
is the principal amount?

5% ek SATS i & U 2 T8 R WIEWUT ST a4
Tehgleg AT T SR F. 35 & | 79 98 YA o= &

(a) Rs. 15,000 (b) Rs. 10,000

(c) Rs. 14,000 (d) Rs. 13,000

(e) None of these

'A' can complete a piece of work in 12 days. 'A'
and 'B' together can complete the same piece of
work in 4 days. In how many days can 'B' alone
complete the same piece of work?

A Teredt wret it 12 et & qui T wewar &1 A 2 B St
e @t 4 fe it & qut T TeRar 81 SE e F B srehen
ferera feet & gt ot Wera £

(a) 6 days (b) 8 days (c) 15 days

(d) 18 days (e) None of these
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10. If ab = 36. which of the following proportions is

correct?

g ab =36 A fe1 T I |1 FuTuTT T -
(a)9:a=4:Db (b)a:18=b:3
(c)a:6=b:6 (da:9=4:b

(e) None of these

Directions (Q. 11-15): Each of the questions below consists
of a question and two statements numbered | and |l given
below it. You have to decide w hether the data provided in the
statements arc sufficient to answer the question. Read both
the statements and give answer

o (11 — 15) = T2 y@ieh W9=il o & /9, 9 1
T e 11 T 7 ) o e g2 el ol SR
I Eifeu)

(a) if the data in statement I alone is sufficient to
answer the question while the data in statement II
alone is not sufficient to answer the question.

[Heh! ST Shael ] ST o feTU Ui & eI Tiehl oAt here

1T 3R & o water =& 2

(b) if the data in statement II alone is sufficient to
answer the question while the data in statement'T
alone is not sufficient to answer the question.

HHeh! ST harel SR 11 ST ok TTT Uariea & eI |eeht ot

HA 1 I o T wamua - §1

(c) if the data either in statement I alone or in
statement II alone is sufficient to answer the
question.

T T hael WHehT T SR 1 IT WHERT ol B 11 ST H

forg warte &1

(d) if the data in both the statements I and II even
together are not sufficient to answer the question.

[eeh! AT R 1 7T 11 ST ST o forg it gl 21

(e) if the data in both the statements I and II together
are necessary to answer the question.

|HRT T R ] T [I 1 7R o fI0 i &

11. What is the speed of a running train?

AT ST T T ST & |

I. The length of the train is 180 metres.

T T 180 eI

II. The train crosses another stationary train of 120
metres length in 60 seconds.

TEH 120 HieT wat 27 Y, 27 60 YehUE T U S )

12.. What is the speed of a boat in still water?

HTE it ITid S B Il o B

I." The boat running downstream takes 6 hours from
AtoB

A¥ B g @t fagm # 19 & Tve At 2

II. The boat running upstream takes 8 hours from B
to C.

B ¥ C a1 & faudta fegn o =ra 8 Toe Xt 81

13. What is the difference between the age's of
Samir and Sreekant?

14.

15.

HHR 9 kT Shi AT T AT AT &

I. The ratio of their agesis 7 : 9.

et 3T T T 7:9

II. 5 years hence the sum of their ages will be 58
years.

5 8 ST SehT 3T T AT 58 T8 BT

In how many days can Mohan alone complete

the work?

fera femil & e s I T TR

I. Mohan and Prakash together.can complete the
work in 17 days.

TET o YeHT9T hTH Rl Teh |1 17 f&1 & T Terat £

II. Rakesh works double as fast as Mohan and can
alone compete the work in 10 days.

THRYT HIET W SIAT T hteh ol vt 10 Tt § &

Hehel B

What is the per cent rate of simple interest per

annum?

HTLUT ST et FieroT ¢ o £

I. The amount with the interest rate doubles in 5
years.

SIS et &F & 5 8t W ST 2 |

II. The interest earned in first year was Rs 10,000.

g 99 Rl ST %. 10,000 2T
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- Answerkey

1. (a) 2. (d) 3. (c) 4. (@) 5. (b) 6. () 7. (b) 8. () 9.(a  10. (d)
11. (e) 12.(d) 13.(e)  14.(b) 15. (a)

Hint & Solutions

1. Let the present age of Kunal be 9x and that of i 8. In case of simple interest, the total interest for
Vikrant be 4x. Then, according to the question, two years is (5 + 5 ©10% of the principal amount

9x =2(09x +12) -3 whereas at compound interest the total interest
or 18x —9x =27 or 9x =27 for two years is (5+5+ 5X05 :j10.25% of the
: x =3

principal amount.
hence we can conclude that Rs. 351s(10.25-10 )
0.25% of the principal amount.

Now, the present age of Kunal =9 x 3 = 27 yrs and the
present age of Vikrant =4 x3 =12yrs
Hence, after 4 yrs, Vikrant’s age =12+ 4 =16 yrs

. 35x 100

2. Let the CP of hen and goat be Rs. x adn Rs. y Hence the required amount = ﬁ
respectively. ’
=Rs. 14,000

According to the question.

o} . J12x4
f%x N 6?3’ 540 Quicker Method : 2 4" 6 days

or, 25x + 24y = 10800 o) Other Method : Suppose the work consists of making

) 6x 5y 12 pillars. Since A can complete the work in 12 days, this
Again, 54T 538 implies that A can make one pillarin a day. Similarly, we get
or, 24x + 25y = 10760 () that A and B together can make three pillarsin a day. Hence
Solving equation (i) and (ii) we can conclude that B can make two pillarsin a day. Hence,

’ the total work (12 pillars) can be completed by Bin(12 + 2 =)
we get x =Rs. 249, y.= Rs. 200 ' 6 days.
3. Total nlfm?)er of persons is five. When there is 10. Go through the options.

no restriction they can be seated in 5! ways. but a 4
A and B can be arranged in 2! ways. 9 = b
The required number of ways in which A and B do not b =9x4 =36

sit together = 5!-2x 4! =41(5-2)
=1x2x3x4x3=T2
4. Total number of balls=6+3+2 =11
Sample space n(S) = 1 Coy
Now, the number of events n(E) = 6C2
Required probability P (E)
B _ Cy 15 3

nS) g, 55 11

11. From I and II : we get :

Speed of the running train
_ (180 +120)

60

=5 m/sec

12, (d)
13. From I and II : we get
Tk +9k =58-5x%x 2
or, 16k =48
k=3
Now, the required difference between the ages of Samir
and Sreekant

5. At least one is yellow =1 — P (none is yellow)
_%Cy 28 21
11 Cy 55 55
6. Wehave,117+x +(x +12)+15=72.5x 4

[where x is the lower integer among the remaining two
integers.]

= 2¢ =290 -144 =146

x =73

Hence the higher integer (among the remaining two
integers) =73+ 12 =85

7.  The total population after two years

~8500x 120,125 _ 19750
100 100

=1

=9x3-7Tx3=6yrs
14. From II : we get :
Ratio of the efficiencies of Rakesh and Mohan=2:1
Since Rakesh alone can complete the work in 10 days,
Mohan will complete the same work in (10 x 2 =) 20 days.

15. From I: We get

rate ofinterest = % =20%
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